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AR C 31.5 21.5 25.2 25.8 25.8 21.5 21.5 31.5
7RI C 23.0 21.5 22.5 23.0 22.8 23.0 22.2 21.5
— B 100 1| /ml 560 0 210 560 0 490 0 0
PN M 21 ISR 8 21 IS RcAc 21 IS RcAc T
HARIV LR OZEDEY 0.003 0.0003 |mg/! 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 >
IRERK O DALE Y 0.0005 | 0.00005 |mg/I1 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 >
LV R OEDLEY 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
R OZEDILAY 0.01 0.001 |mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
ER K OZEDILED 0.01 0.001 'mg/1 0.002 0.001 > 0.001 > 0.002 0.001 > 0.002 0.001 > 0.001 >
VoY ZA=ON (#2x )] 0.05 0.005 |mg/1 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 >
AE T e S 0.04 0.004 |mg/1 0.009 0.004 > 0.004 > 0.009 0.004 > 0.004 > 0.004 > 0.004 >
T AMIAT L RO T 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
THEEREZE 8 M VIR A R 2 5 10 0.2 |mg/l 0.7 0.6 0.7 0.7 0.7 0.6 0.7 0.7
TvH# R OZEDEY 0.8 0.05 |mg/! 0.09 0.08 0.08 0.09 0.08 0.08 0.08 0.08
ROFROZEDILED 1 0.025 'mg/l 0.032 0.027 0.030 0.031 0.028 0.032 0.031 0.027
PUsfb R 0.002 0.0002 |mg/! 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 >
1, 4—VAF 0.05 0.003 'mg/1 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 >
" /f;_/;fl_/zfuf;i‘;;%g 0.04 0.004 mg/I 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 >
DA=1=Y 0.02 0.001 \mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
FrhFranTFLv 0.01 0.001 'mg/l 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
NyapzFL 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
NPy 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
biE N 0.6 0.06 |mg/I 0.11 0.06 > 0.06 > 0.06 > 0.09 0.06 > 0.08 0.10
P Pa=i=ti137 0.02 0.001 |mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
DA=1=1 7 0.03 0.001 'mg/1 0.004 0.004 0.004 0.004 0.004
INZA=E=T 5 0.03 0.001 |mg/1 0.009 0.004 0.007 0.004 0.009
e 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
Va=1=2:17 N 0.06 0.001 'mg/1 0.012 0.001 > 0.006 0.001 > 0.007 0.001 > 0.012 0.011
TaEvranrss 0.03 0.001 'mg/1 0.007 0.001 > 0.004 0.001 > 0.005 0.001 > 0.007 0.007
DA=E =150 34 0.1 0.001 'mg/1 0.003 0.001 > 0.001 0.001 > 0.002 0.001 > 0.002 0.003
we |7 EEARLL 0.09 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
R NS 0.1 0.001 'mg/1 0.021 0.001 > 0.011 0.001 > 0.014 0.001 > 0.021 0.021
FIVLT VTR 0.08 0.001 'mg/1 0.002 0.001 0.002 0.002 0.001
WL O DG 1 0.005 'mg/1 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 >
TNAI=T BF OEDLE 0.2 0.01 |mg/!1 0.43 0.02 0.17 0.43 0.03 0.31 0.02 0.03
R OEDNLEY 0.3 0.03 'mg/1 0.50 0.03 > 0.17 0.50 0.03 > 0.35 0.03 > 0.03 >
SR OZEDILA Y 1 0.005 |mg/1 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 >
17 | TNV LROZEOEY 200 1 |mg/1 9.4 7.1 8.4 7.2 9.4 7.1 9.4 9.1
= R OEDILEY 0.05 0.002 'mg/1 0.053 0.002 > 0.018 0.053 0.002 > 0.037 0.002 > 0.002 >
A4 200 0.8 |mg/I 11.5 6.1 9.1 6.1 10.9 6.1 11.5 10.8
NN/ SN 3( 73] 300 1 mg/l 42 36 39 40 42 36 40 36
3isarty) 500 1 mg/l 122 100 114 122 118 122 110 100
[ A A TS PEA 0.2 0.02 'mg/1
VA 0.00001 | 0.000001 |mg/] 0.000002 0.000001 > 0.000001 0.000002 0.000001 0.000002 0.000001 0.000001 >
B [2—AF AR I —I 0.00001 | 0.000001 |mg/] 0.000001 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 0.000001 > 0.000001 >
FEA A F A 0.02 0.005 'mg/1
PEVEIZ | 0.005 0.0005 |mg/1
fitiS (TOC) 3 0.3 |mg/l 1.2 0.6 0.8 1.2 0.6 1.0 0.6 0.6
pHIE 5.8~8.6 7.5 7.4 7.5 7.4 7.5 7.4 7.5 7.5
'S BTN HERL HERL HERL
B HETRN A Bl A Bl HBERL
o 5 0.5 |Ji€ 7.4 0.5 > 2.5 4.7 0.5 > 7.4 0.5 > 0.5 >
W 2 0.1 & 10.5 0.1 > 3.4 10.5 0.1 > 6.7 0.1 > 0.1 >
BT AR R 1 mg/1 1.04 0.78 0.89 1.04 0.78 0.86
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KA H 202146 8 H 202146 8 H 202146 A8 H 202146 A8 H 202146 A8 H 202146 A8 H 202146 8 H
FNE ol 101 10/ 121 11 11 101
Bok#E
EEFSA fiff fiff fiff fiff fiff fiff fiff
CIEES it it it it it it it
SR C 32.0 28.5 30.4 30.0 30.0 31.0 32.0 31.0 28.5 30.2
7RI C 23.8 20.8 22.3 22.8 20.8 23.1 21.2 22.7 23.8 22.0
— B 100 1| /ml 0 0 0 0 0 0 0 0 0 0
BN T M BT T T T T BT BT T T T
HARIV LR OZEDEY 0.003 0.0003 |mg/! 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 >
IKEJ OEDILE Y 0.0005 | 0.00005 |mg/I1 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 >
LV R OEDLEY 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
R OZEDILAY 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
ER K OZEDILED 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
Niza et 0.05 0.005 |mg/1 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 >
K| HR R e 2 0.04 0.004 'mg/1 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 >
T AAT L RO T 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
THEEREZE 8 M VIR A R 2 5 10 0.2 |mg/l 0.8 0.7 0.8 0.7 0.7 0.8 0.8 0.8 0.8 0.8
TvH# R OZEDEY 0.8 0.05 |mg/! 0.08 0.07 0.07 0.07 0.07 0.08 0.07 0.07 0.07 0.07
FURROZEOED 1 0.025 'mg/1 0.028 0.025 > 0.026 0.025 > 0.027 0.027 0.025 0.025 > 0.028 0.025 >
PUsfb R 0.002 0.0002 |mg/1 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 >
1, 4—VAF 0.05 0.003 'mg/1 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 >
" LT Y 0.04 0.004 mg/! 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 >
DA=1=Y 0.02 0.001 \mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
FhFranTFL 0.01 0.001 'mg/l 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
NyapzFL 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
B 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
biE N 0.6 0.06 |mg/!1 0.11 0.08 0.09 0.08 0.08 0.10 0.10 0.09 0.10 0.11
P Pa=i=ti137 0.02 0.001 'mg/1 0.001 0.001 > 0.001 0.001 0.001 > 0.001 > 0.001 0.001 0.001 0.001
DA=1=1 7 0.03 0.001 'mg/1 0.008 0.001 0.005 0.004 0.001 0.004 0.008 0.006 0.006 0.007
INZA=E=T 5 0.03 0.001 |mg/1 0.014 0.008 0.011 0.012 0.014 0.010 0.008 0.013 0.009 0.008
e 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
Va=1=2:17 N 0.06 0.001 'mg/1 0.020 0.011 0.015 0.012 0.020 0.016 0.011 0.019 0.014 0.014
TaEvranrss 0.03 0.001 'mg/1 0.007 0.005 0.006 0.006 0.006 0.006 0.005 0.007 0.006 0.007
DA=Sd=i=p Y 4 0.1 0.001 'mg/1 0.003 0.001 0.002 0.001 0.001 0.002 0.001 0.003 0.002 0.002
we |7 RERLL 0.09 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
NPT V% 0.1 0.001 'mg/1 0.029 0.017 0.023 0.019 0.025 0.024 0.017 0.029 0.022 0.024
FIVLT VTR 0.08 0.001 \mg/1 0.005 0.002 0.004 0.002 0.002 0.004 0.003 0.005 0.004 0.004
gk O DIEY 1 0.005 |mg/1 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 >
TNAR=T LR OZEDLEY 0.2 0.01 |mg/!1 0.03 0.02 0.03 0.02 0.03 0.03 0.03 0.03 0.02 0.03
B OZEDE 0.3 0.03 |mg/! 0.03 > 0.03 > 0.03 > 0.03 > 0.03 > 0.03 > 0.03 > 0.03 > 0.03 > 0.03 >
SR OZEDILA Y 1 0.005 |mg/1 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 >
1w | TNV LROZEOEY 200 1 |mg/1 8.8 8.4 8.6 8.5 8.5 8.5 8.6 8.4 8.8 8.7
= R OEDILEY 0.05 0.002 'mg/1 0.002 > 0.002 > 0.002 > 0.002 > 0.002 > 0.002 > 0.002 > 0.002 > 0.002 > 0.002 >
A4 200 0.8 |mg/I 11.5 10.5 11.1 10.5 11.3 11.3 11.0 11.5 11.2 11.1
TN I = T W () 300 1 mg/l 36 33 35 33 36 36 36 36 36 36
3isarty) 500 1 mg/l 118 92 105 106 103 118 92 104 105 107
[ A A TS PEA 0.2 0.02 |mg/I
VA A 0.00001 | 0.000001 |mg/] 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 >
B [2—AF AR I 0.00001 | 0.000001 |mg/] 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 >
FEA A F A 0.02 0.005 'mg/1
PEVEIZ | 0.005 0.0005 |mg/1
fitiS (TOC) 3 0.3 |mg/l 0.6 0.5 0.5 0.6 0.5 0.5 0.5 0.6 0.5 0.5
pHIE 5.8~8.6 7.7 7.4 7.5 7.4 7.6 7.4 7.4 7.5 7.5 7.4
'S BTN HEL HERL HERL HERL HERL HERL HERL
R BE TR FHIRL FHIRL FHIRL FHIRL FHIRL FHIRL FHIRL
R 5 0.5 | B 0.5 > 0.5 > 0.5 > 0.5 > 0.5 > 0.5 > 0.5 > 0.5 > 0.5 > 0.5 >
R 2 0.1 & 0.1 > 0.1 > 0.1 > 0.1 > 0.1 > 0.1 > 0.1 > 0.1 > 0.1 > 0.1 >
BT AR R 1 mg/1 0.79 0.28 0.56 0.46 0.28 0.56 0.79 0.45 0.66 0.73
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